

			Vendor	Ranking			Page 1 of 1
Letting:	02181114	November 14, 2018 11:00 AM	Call Order	: 003	Contract:	E2X98-R0	
District:	District 2		Counties:	DIST/ST-WIDE,	Fed Aid No	: N/A	
Contract Time:	365 CALENI	DAR DAYS		GILCHRIST, LEVY	Project(s):	41021827208	
Contract Desc:	This contrac	t is a large mow, Intermediate	mow, small r	now, s			

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SUWANNEE FOREST PRODUCTS, INC.	Responsive	Winning bid	\$642,250.00	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

ACTUAL COMMITMENT AND FINAL EXECUTION OF THE CONTRACT IS CONTINGENT UPON AN APPROVED LEGISLATIVE BUDGET AND FUNDS AVAILABILITY. POSTING BEGINS DECEMBER 03, 2018, AT 5:00 P.M. AND ENDS ON DECEMBER 06, 2018, AT 5:00 P.M.



## **Tabulation of Bids**

Page 1 of 3

Letting:	02181114	November 14, 2018	Call Order:	003	Contract: E2X98-R0
District:	District 2		Counties:	DIST/ST-WIDE,	Fed Aid No: fedprojects
Contract Time:	365 CALEND	DAR DAYS		GILCHRIST, LEVY	Project(s): 41021827208

Contract Descr: This contract is a large mow, Intermediate mow, small mow, s

Provide labor, materials, equipment and incidentals to large, intermediate, small, and slope mowing, litter removal and disposal, and trimming around appurtenances, slopes and wet areas on primary roads in the Chiefland Maintenance area. RENEWAL OPTION. BID EXPRESS MANDATORY.

Line No / Item ID Alternate	Quantity Units	(1) SUWANN PRODUC					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 L	ARGE MACH	INE MOWING (AC	)				
0005 E104 4 1 MOWING (REGULAR/LARC MACHINE)	15,000.000 GE AC	16.00000	240,000.00				
0010 E104 4 2 MOWING (SLOPE)	60.000 AC	100.00000	6,000.00				
0015 E104 4 3 MOWING (SMALL MACHINE)	900.000 AC	85.00000	76,500.00				
0020 E104 4 4 MOWING (INTERMEDIATE MACHINE	1,200.000 ) AC	85.00000	102,000.00				
0025 E104 50 WEED CONTROL MANUAL	7.000 AC	250.00000	1,750.00				
0030 E110 30 LITTER REMOVAL	27,000.000 AC	8.00000	216,000.00				
0001 LARGE MACHINE Sec MOWING (AC)	ction Totals:		\$642,250.00				



## **Tabulation of Bids**

Page 2 of 3

Letting:	02181114	November 14,	2018 <b>C</b> a	all Order: 003		Contract:	E2X98-R0	
Line No / Iter Item Descrip		te Quantity Units		NEE FOREST CTS, INC.				
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
Contract Grand Totals:			\$642,250.00					



			Tabulation of Bids		Page 3 of 3
Letting:	02181114	November 14, 2018	Call Order: 003	Contract:	E2X98-R0
		120.57(3), Florid	o file a protest within the time pre da Statutes, or failure to post the l within the time allowed for filing a	bond or other security	
			within the time allowed for filing a eedings under chapter 120, Florid		

ACTUAL COMMITMENT AND FINAL EXECUTION OF THE CONTRACT IS CONTINGENT UPON AN APPROVED LEGISLATIVE BUDGET AND FUNDS AVAILABILITY. POSTING BEGINS DECEMBER 03, 2018, AT 5:00 P.M. AND ENDS ON DECEMBER 06, 2018, AT 5:00 P.M.